The School Board of Broward County, Florida Procurement & Warehousing Services

ITB / RFP No.:	17-172E		Tentative Board M	Ieeting Date*:	MARCH 21, 2017					
Description:	PORTABLE TWO WAY RADIO	OS, REPEATERS AND	Notified:	457	Downloaded:	24				
	ACCESSORIES		ITB / RFP Rec'd:	3	No. Bids:	0				
For:	VARIOUS LOCATIONS		ITB / RFP Openin	g: JANUARY	JANUARY 23, 2017					
Fund:	VARIOUS FUNDS		Advertised Date:	DECEMB	ER 15, 2016					
affected by the decidecision. The form to file a formal wr written protest shall District is closed sl Warehousing Serv decision shall post (SBBC), in an amount of the process of the control of the con	ices and www.Demandstar.com on Justision or intended decision shall file all written protest shall be filed withing itten protest shall constitute a waive all state with particularity the facts and hall be excluded in the computation rices, 7720 West Oakland Park Bou with the School Board, at the time of bount equal to one percent (1%) of the s, Section N, within the time allowed a Silence, as stated in the ITB / Rive. Confirm with the Purchasing	a notice of protest, in writing ten (10) days after the cert of proceedings under the day upon which the protof the 72-hour time periodlevard, Suite 323, Sunrisus of filing the formal writtense estimated value of the cert of for filing a bond shall control of the cert o	ting, within 72 hours late the notice of proteins chapter. Section 1 lest is based." Saturda of provided. Filings see, Florida 33351. An protest, a bond, paya ontract. Failure to poonstitute a waiver of the section o	after the posting est is filed. Failur 20.57(3)(b), Flor ys, Sundays, state hall be at the official person who fil ble to The Schoot the bond requir he right to protest coved by SBBC. ne of Silence ha	of the notice of decision to to file a notice of proteida Statutes, states that the holidays and days during the decision of the Director of Proteins an action protesting I Board of Broward Counted by SBBC Policy 332.	or intended est or failure The formal ng which the ocurement & an intended nty, Florida, 0, Part VIII,				
	MEET THE NEEDS OF SBBC, ITE. NGS SPECIFICATIONS.	MS ARE BEING AWAR	DED BY GROUP T	O ONE (1) PRIM	ARY AND ONE (1) AL	LTERNATE				
		<u>C</u>	<u>ATEGORIES</u>							
	<u>ITEM</u>	PRIMARY	AWARDEE	ALTERN	ATE AWARDEE					
GROUP 1	RADIOS	INTERNATIONAL R.	ADIO LLC C	OMMUNICATION	S SERVICE CO. OF DAY	TONA, INC.				
GROUP 2	REPEATER & INSTALLATION	BEAR COMMUNICA	TIONS INC. C	OMMUNICATION	S SERVICE CO. OF DAY	TONA, INC.				
GROUP 3	ACCESSORIES	INTERNATIONAL R.	ADIO LLC B	EAR COMMUNIC	ATIONS INC.					
GROUP 4	OPTIONS & FEATURES	INTERNATIONAL R.	ADIO LLC B	EAR COMMUNIC	ATIONS INC.					
GROUP 5	LICENSURE	COMMUNICATIONS	SERVICE CO. OF DA	YTONA, INC.						
GROUP 6	HOURLY SERVICES	BEAR COMMUNICA	TIONS INC. C	OMMUNICATION	S SERVICE CO. OF DAY	TONA, INC.				
GROUP 7	SOFTWARE	BEAR COMMUNICA	TIONS INC. IN	ITERNATIONAL I	RADIO LLC					
CONTRACT PER	IOD: MARCH 22, 2017, THROUG	H APRIL 30, 2020.								
	<	Myran								
Ву:	(Puro	chasing Agent)		Date:	1-30-2017					

The School Board of Broward County, Florida, prohibits any policy or procedure which results in discrimination on the basis of age, color, disability, gender expression, national origin, marital status, race, religion, sex or sexual orientation. Individuals who wish to file a discrimination complaint, may call the Executive Director, Benefits & EEO Compliance at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

Bid Opened: 1/23/17

Purchasing Agent: Karlene Grant

~	THE SCHOOL BOARD OF BROWARD COUNT	V ELOP!	24	<u> </u>			1					
	THE SCHOOL BOARD OF BROWARD COUNTY, FL										COMMUNICATION	IS SERVICE CO.
	BID TABULATION SHEET				BEARCOM			NTERNATION			OF DAYTONA, INC.	
Item	Description	Quantity	Unit	Bid Unit Price		Bid Price Extension	В	Bid Unit Price		Bid Price Extension	Bid Unit Price	Bid Price Extension
1A	Radio, Two Way UHF Portable 16 Channel, Non-Display Digital/Analog	3,500	Ea	366.00	\$	1,281,000.00	\$	341.80	\$	1,196,300.00	348.00	1,218,000.00
1B	Radio, Two Way UHF Portable 128 Channel, Display Digital/Analog	200	Ea	398.00	\$	79,600.00	\$	377.00	\$	75,400.00	422.00	84,400.00
1C	Radio, Two Way UHF Portable 1000 Channel, Display Digital Analog XPR 7550	100	Ea	735.00	\$	73,500.00	\$	693.48	\$	69,348.00	775.00	77,500.00
	TOTAL GROUP 1A-1C					1,434,100.00	Ť			1,341,048.00		1,379,900.00
2A	Repeater, Two Way Radio UHF Digital/Analog	150	Ea	2,250.00	\$	337,500.00		No Bid		No Bid	2,300.00	345,000.00
2B	Associated Installation Equipment for Repeater Installation TOTAL GROUP 2A-2B	50	Ea	4,000.00	\$ \$	200,000.00 537,500.00		No Bid		No Bid	5,500.00	275,000.00 620,000.00
	Antenna, Whip 6" for CP200/HT750 Portable Radio											
3A	(Replacement Part) Antenna, Whip 6" for XPR3300/3500 Portable Radio	250	Ea	8.57	\$	2,142.50	\$	8.50	\$	2,125.00	10.00	2,500.00
3B	(Replacement Part) Antenna, Stubby for XPR3300/3500 Portable Radio	250	Ea	7.44	\$	1,860.00	\$	7.25	\$	1,812.50	8.00	2,000.00
3C	(Replacement Part)	150	Ea	7.44	\$	1,116.00	\$	7.25	\$	1,087.50	8.00	1,200.00
3D	Charger, CP Radio, Single Radio Battery with Plug (Replacement Part)	200	Ea	13.71	\$	2,742.00	\$	39.25	\$	7,850.00	42.00	8,400.00
	Charger, XPR3300/3500/6500/7500 Series Radio, Single Radio Battery with Plug IMPRESS Capable (Replacement											
3E	Part)	100	Ea	19.45	\$	1,945.00	-	41.70		4,170.00	50.00	5,000.00
3F	Clip, Belt for CP200 Portable Radio (Replacement Part) Clip, Belt XPR3300/3500 Portable Radio (Replacement	300	Ea	3.96	\$	1,188.00	\$	3.68	\$	1,104.00	5.00	1,500.00
	Part)	300	Ea	7.42	\$	2,226.00	\$	6.90	\$	2,070.00	8.00	2,400.00
3H	Clip, Belt HT750 Portable Radio (Equipment Part)	100	Ea	7.42	\$	742.00	\$	6.90	\$	690.00	9.00	900.00
31	Battery, CP200 Portable Radio (Li-lon) 2250 mAh to be used with charger WPLN4138 (Replacement Part)	300	Ea	45.00	\$	13,500.00	\$	43.58	\$	13,074.00	65.00	19,500.00
3J	Battery, XPR3300/3500 Portable Radio Standard Battery 1500 mAh (Li-lon) (NON-impress) (Replacement Part)	500	Ea	61.00	\$	30,500.00	\$	58.70	\$	29,350.00	80.00	40,000.00
	Battery, XPR3300/3500 Portable Radio IMPRES Slim Battery 1500 mAh (Li-lon) (Replacement Part)	500	Ea	44.00	\$	22,000.00	\$		\$	21,700.00	70.00	35,000.00
	Battery, XPR3300/3500/7000 Series Hi-Cap Portable Radio IMPRES 2700 mAh (Li-Ion) (Replacement Part)	300	Ea	87.00	\$	26,100.00	\$	81.50	\$	24,450.00	5,100.00	1,530,000.00
3M	Battery, XTS2500 Series IMPRESS 2100 mAh (NiMH) (Replacement Part)	200	Ea	59.00	\$	11,800.00	\$	57.90	\$	11,580.00	90.00	18,000.00
3N	Battery, Motorola HT750/HT120/MTS2000 Portable Radios 1900 mAh (NiMH) (Replacement Part)	350	Ea	35.48	\$	12,418.00	\$	34.00	\$	11,900.00	60.00	21,000.00
30	Battery, Motorola EX500 Portable Radios 1300 mAh (Lilon) (Replacement Part)	150	Ea	61.25	\$	9,187.50	\$	59.25	\$	8,887.50	85.00	12,750.00

Bid Opened: 1/23/17

Purchasing Agent: Karlene Grant

	THE SCHOOL BOARD OF BROWARD COUNTY, FLORIDA BID TABULATION SHEET				BEARCOM			TERNATION	IAI F	RADIOLLC	RADIO ONE - COMMUNICATIONS SERVICE COMPANY		
Item			Unit	Bid Unit Price	Bid Price Extension		Bid Unit Price		Bid Price Extension		Bid Unit Price	Bid Price Extension	
3P	Battery, ICOM F-21 Radios (Replacement Part)	300	Ea	49.00	\$	14,700.00	\$	31.50	\$	9,450.00	50.00	15,000.00	
	Battery, APX 4000 Series Portable Radio IMPRES 1900												
3Q	mAh (Li-lon) (Replacement Part)	50	Ea	65.50	\$	3,275.00	\$	63.25	\$	3,162.50	95.00	4,750.00	
	Battery, APX 4000 Series Hi-Cap Portable Radio IMPRES		_										
3R	2300 mAh (Li-lon) (Replacement Part)	50	Ea	76.35	\$	3,817.50	\$	74.00	\$	3,700.00	95.00	4,750.00	
20	Battery, APX 6000/7000 Series Portable Radio IMPRES 2150 (Li-Ion) (Replacement Part)	200		07.50	_	00 050 00		04.00		05 000 00	400.00	20,000,00	
3S	Battery, APX 6000/7000 Series Hi-Cap Portable Radio	300	Ea	87.50	\$	26,250.00	\$	84.00	\$	25,200.00	100.00	30,000.00	
3T	IMPRE2900 mAh (Li-lon) (Replacement Parts)	300	Ea	103.00	\$	30,900.00	¢	99.63	\$	29,889.00	120.00	36,000.00	
31	Mag One Swivel Earpiece with In-Line Microphone and	300	Ľa	103.00	φ	30,900.00	P	99.03	-	29,009.00	120.00	30,000.00	
3V	Push-To-Talk for XPR3000 Series Radio (Over the Ear)	300	Ea	24.75	\$	7,425.00	\$	24.00	\$	7,200.00	30.00	9,000.00	
	Mag One Earbud with In-Line Microphone and Push-To-	000	Lu	24.70	Ψ	7,120.00	۳	24.00	۳	7,200.00	00.00	0,000.00	
3W	Talk for XPR3000 Series Radios	100	Ea	14.50	\$	1,450.00	\$	13.80	\$	1,380.00	18.00	1,800.00	
	Motorola Earpiece with In-Line Microphone and Push-To-					,	Ť		Ť	,		,	
3X	Talk for CP200 Radio (Over the Ear)	100	Ea	18.80	\$	1,880.00	\$	18.00	\$	1,800.00	24.00	2,400.00	
	Motorola Two Wire Earpiece and Microphone with Clear												
3Y	Translucent Tube	100	Ea	33.40	\$	3,340.00	\$	32.25	\$	3,225.00	42.00	4,200.00	
3Z	Motorola Replacement Translucent Tubes for Earpiece. Low Noise Kit with Translucent Tube and 1 Clear Rubber Ear Tip. For use on PMNL7269	100	Ea	3.75	\$	375.00	\$	3.65	\$	365.00	6.72	672.00	
3AA	Motorola Replacement Custom Earpiece for Left or Righ, Small, Medium or Large. For use on PMNL6242 and PMLN7269. School must specify size and side when ordering	100	Ea	14.10	\$	1,410.00	\$	13.50	\$	1,350.00	15.00	1,500.00	
	Antenna, ICOM F-21 Radios (Replacement Part) 430-		1										
3BB	470MHz TOTAL GROUP 3A-3BB	100	Ea	7.95	\$ \$	795.00 235,084.50	\$	7.80	-	780.00 229,352.00	12.00	1,200.00 1,811,422.00	
	TOTAL GROUP 3A-3BB				Þ	235,084.50			\$	229,352.00		1,811,422.00	
4A	Premium System Software: Capacity Plus Single Site Digital Trunking Upgrade	50	Ea	1,050.00	\$	52,500.00	\$	1,039.50	\$	51,975.00	1,200.00	60,000.00	
4B	Premium System Software: Linked Capacity Plus Upgrade from Capacity Plus	50	Ea	2,100.00		105,000.00	\$	2,079.00	\$	103,950.00	2,600.00	130,000.00	
4C	Premium System Software: Digital Voting Operation	50	Ea	800.00	\$	40,000.00	\$	779.00	\$	38,950.00	925.00	46,250.00	
4D	Premium System Software: Dynamic Mixed Mode Upgrade License	50	Ea	160.00	\$	8,000.00	\$	156.00	\$	7,800.00	195.00	9,750.00	
4-	Premium System Software: Enhanced Scheduled GPS	4.5	_]					40		4 6 5-			
4E	License	10	Ea	475.00	\$	4,750.00	\$	467.78	\$	4,677.80	565.00	5,650.00	
45	Premium System Software: Restricted Access to System	40	_	400.00		4 000 00	 	450.00	_	4 500 00	405.00	4.050.00	
4F	Security TOTAL GROUP 4A-4F	10	Ea	160.00	\$ \$	1,600.00 211,850.00	\$	156.00	\$	1,560.00 208,912.80	195.00	1,950.00 253,600.00	

Bid No. 17-172E Bid Title: Portable Two Way Radios, Repeaters and Accessories

Purchasing Agent: Karlene Grant

	THE SCHOOL BOARD OF BROWARD COUNT BID TABULATION SHEET	BEAR	сом	INTERNATION	IAL RADIO LLC	RADIO ONE - COMMUNICATIONS SERVICE COMPANY			
Item	Description	Quantity	Unit	Bid Unit Price	Bid Price Extension	Bid Unit Price	Bid Price Extension	Bid Unit Price	Bid Price Extension
5A	SBBC cost for FCC License for emission designator change for existing license. Cost is to add TRBO and or digital emissions to existing license.	50	Ea	No Bid	No Bid	No Bid	No Bid	200.00	10,000.00
	SBBC cost for NEW FCC License and associated frequency Coordination with emission designators for Analog, Digital Mototrbo and Trunked Mototrbo.	20	Ea	No Bid	No Bid	No Bid	No Bid	1,200.00	24,000.00
	TOTAL GROUP 5A-5B								34,000.00
	Hourly labor cost for radio technician to perform various tasks	500	Hourly	70.00	\$ 35,000.00	No Bid	No Bid	80.00	40,000.00
	TOTAL GROUP 6A				\$ 35,000.00				40,000.00
7A	Cost for TRBONET Software	1	Ea	69,590.00	\$ 69,590.00	\$ 80,427.80	\$ 80,427.80	64,220.00	64,220.00
7B	Cost for TRBONET Software	1	Ea	48,200.00	\$ 48,200.00	\$ 43,320.95	\$ 43,320.95	55,015.00	55,015.00
7C	Cost for TRBONET PLUS Software	1	Ea	54,000.00	\$ 54,000.00	\$ 51,691.74	\$ 51,691.74	61,800.00	61,800.00
	TOTAL GORUP 7A-7B				\$ 171,790.00		\$ 175,440.49		181,035.00

Bid Opened: 1/23/17